
ModuLine

Treston Oy Sorakatu 1, FI-20730 TURKU • Tel. +358 10 4469 11 • info@treston.com • treston.com

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
1 (27)



max. 25 kg

max. 60 kg

MOD510R ESD, MOD510S ESD

20
kg

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
2 (27)



1

2

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
3 (27)



= =

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
4 (27)



90°

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
5 (27)



=
=

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
6 (27)



M8 x 14 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
7 (27)



M6 x 12 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
8 (27)



MOD100E ESD

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
9 (27)



1

2

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
10 (27)



= =

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
11 (27)



ASSEMBLY INSTRUCTION
O-7445

2017-06-09
12 (27)



MOD510S ESD, MOD100E ESD

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
13 (27)



M8 x 12 

M6 x 12 

M8 x 12 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
14 (27)



M8 x 12 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
15 (27)



MOD510S ESD, MOD505C ESD

M8 x 12 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
16 (27)



M8 x 14 

M8 x 16 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
17 (27)



M8 x 12 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
18 (27)



MOD510S ESD, MOD50E ESD

M8 x 12 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
19 (27)



MOD510R ESD,2xMOD100E ESD, 
2XMOD505C ESD

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
20 (27)



M8 x 12 

M8 x 14 

M8 x 16 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
21 (27)



MOD100E ESD, MOD100E ESD

M8 x 12 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
22 (27)



MOD100E ESD, MOD50E ESD

M8 x 12 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
23 (27)



MODBP100

M8 x 12 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
24 (27)



MODMS100

M8 x 12 

max. 10 kg

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
25 (27)



MOD510S ESD, LIGHT

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
26 (27)



MOD510S ESD, ENERGY RAIL

M6 x 10 

ASSEMBLY INSTRUCTION
O-7445

2017-06-09
27 (27)


